@ HDQ8 INSTALLATION DETAILS

required (included)

arandela cuadrada

Il

(Included / Incluida)

2xe DBL. TOP PLT.

2%e DBL. TOP PLT.
NAILED @ 3" o/c EACH

8ST MSTC4o STRAP
OPPOSITE SIDE
OF SHEATHING

|

NAILED @ &" O/C EACH /

2x6 FRAMING ¢

Me" 0SB SHEATHING 4
W/ &d NAILS @ & o/C
EDGES ¢ 12" olc

INT. SUPPORTS /

FASTEN SHEATHING TO HDR.
W/ 8D NAILS IN &” GRID

o fo<lo o °

I 4

1'-5 1/4"
PONY WALL HGT.

|

ofo
ofo
.

o °
.
°

°

‘v’

| ——

el o o
o], 0,0

PATTERN AS SHOWN /
51/2" x111/4"

BUILTUP HEADER 4,

SST MSTC28 STRAP
OPPOSITE SIDE
OF SHEATHING

DBL. 2x6& BLOCKING
@ PANEL JOINTS
W/ 8d NAILS @ 2" o/c

2 KING

I TRIM /
JAMB [//“
|

SST STHDI4
EMBEDDED IN CONC.
NAILED DIRECTLY

112" DIA. X 18" ANCHOR BOLTS
W/ 2"%2"%3N&" WASHERS
1" MIN. EMBEDMENT

J

|

|

" B
TO FRAMING /_r 2

Lf

_ -

ok

|

[/n/
|
|

TN A e A DA

. — | 51/4" x 11 1/4"
LvL HEADER
HEAD JAMB

FASTEN SHEATHING TO HDR.
W/ 8d NAILS IN 3" GRID
PATTERN AS SHOWN

o o o

FASTEN TOP PLT. TO HDR.
w/ TWO ROWS OF led
SINKER NAILS @ 2" o/c TYP

o \ 2%6 FRAMING ¢

o Me" ose SHEATHING
W/ &d NAILS @ 3" o/c
IN ALL FRAMING TYP

3 TRIM

\ JAMB

. 2%6 TREATED PLT.
i \ W/ ADDITIONAL
DBL. slLL PLATE

:

5/8" DIA. X 14" ANCHOR BOLTS
W/ 3"%3"x1/4" WASHERS
7" MIN. EMBEDMENT

° .

11/2" TYP
&
/.
L:
CONC. sLAB %
DOOR FRAMING N .
OPPOSITE SIDE A
SAME AS SIDE
SHOWN A

ST T STEMWALL

|
|
|
112" TYP
|
|
|
|
1

w~|®:

\

W/ 4-#4 BARS EA. WAY

20"X1©" CONC. FTG. W/ 2-#4 CONT. HORIZ. REBARS

(1) DOORIGARAGE DOOR SEPARATOR

SCALE: 3/4"="-9"

E=

—"] _.- Embedment line

(top of concrete)

Linea de empotramiento
(parte superior del
concreto)

-135° .
W13

- 45° . o
A K@ e

Install 45° from either edge
Instalar 45° de cada cara

)

@ 55TB28 INSTALLATION DETAILS

/ 30"%20"%12" CONC. FTG.

2X%e DBL. TOP PLT.
NAILED @ 3" o/C EACH

2x4 BACKER

N

STHD - w/StrapMate®

ﬁ._.:. U-——

@ STHDI4 INSTALLATION DETAILS

16d Sinker

(0.148 "x314")

__ Embedment line
(top of concrete)

Strap may be bent down
and back up one time only

5 | concrete MUST cure

TYPICAL STHDI4 CORNER
INSTALLATION ON

STRAP MAY BE BENT DOWN

AND BACK UP ONE TIME ONLTY.
CONCRETE MUST CURE PRIOR

TO BENDING OTHERWISE SPALLING
MAY OCCUR.

STRAP ACHIEVES FULL LOAD
STRENGTH FOR SPALLS LESS
THAN 4”.

INSTALL STRAP WITH A STRAPMATE,

KING STUD
TO DBL TOP PLT.

|

1'-5 1/4"
PONY WALL HGT.

ofe o o o [IJ]
o [

|

— 59T MSTC4o STRAFP
OPPOSITE SIDE
OF SHEATHING

5 1/4" % 11 1/4" \
LvL HEADER

1y
TN
HEAD JAMB B AN EREE _
6oT MSTC40 STRAP L L] e
OPPOSITE SIDE L °[N |
_ o R o . " h -] o
“ -] -] \\‘ ojo /
2x4 BACKER R e A R
FOR INT. BRACED WALL — 1|

OF SHEATHING

DBL. 2x6& BLOCKING

@ PANEL JOINTS

W/ &d NAILS @ 3" O/C I £
IN EACH PANEL EDGE P o |l

EMBEDDED IN CONC.
NAILED DIRECTLY

5/8" DIA. X 14" ANCHOR BOLTS TN
W/ 3"%3"x1/4" WASHERS |

L:
CONC. sLAB

e 14" x 1 1/4"
LvL HEADER

3 TRIM / : A Lo
| ° ° ° °

°
°
°
°

¥

|
|
|
|
|
o o o ° _
|
|
|
|

_
_
_ _
_ o o oo _
_ _
_ _
_
_

~L HEAD JAMB

FASTEN SHEATHING TO HDR.
W/ 8d NAILS IN 3" GRID
PATTERN AS SHOWN

FASTEN TOP PLT. TO HDR.
W/ TWO ROWS OF 1ed
SINKER NAILS @ 3" Oo/C TYP

| |.LL—— 2xe FRAMING ¢

1Me” osB SHEATHING
W/ 8d NAILS @ 2" o/c
IN ALL FRAMING TYP

ADDITIONAL JACK STUDS
W/ &d NAILS @ &" olc

L\D_l\_m [/m ooo ° ° eo ° I
el 1T 11 Lol |
8T STHDI4 1 S i M A AR R 2 KING
LRl L \ 2 TRIM
NNEE . o Ll [
a l_l o |o 5
TO FRAMING AN AR AR
/_/ _ ] i .._ _ JAMB
R J o] [
23 XA BASHERS S -] | 2%6 TREATED PLT.
. |- 1 1ol Il W/ ADDITIONAL
AN e A >__\ | DBL. SILL PLATE
Fh e ]
112" TYP — e e g 1 12" TYP
| e._. M M __M M e._.“ |
| B Il T1!
A L N L
N LA g N .
| o -
| 4
i A
||||||||||||||||||| A4 3-o"
|||||||||||||||||||||||||||| STTTATT eTEMWALL
AR
< 4]
. g .
||||m ||||||| A< -
B : ’ t. .
A4 B - ]
< \

/ 36"%36"%X12" CONC. FTG.

W/ 5-#4 BARS EA. WAY

20"X1©" CONC. FTG. W/ 2-#4 CONT. HORIZ REBARS

@ GARAGE DOOR SEPARATOR |

SCALE: 3/4"="-©"

2Xxe DBL. TOP PLT.
NAILED @ 3" o/C EACH

*

3-2X% STUDS
o ©
o) o)
1-1/2" MIN. o ©
FROM CORNER o ©

ONE #4 REBAR
IN SHEAR CONE
2 X LE MIN. OR 24"

OR OTHER HOLDING DEVICE.

o © NAIL STRAP FROM BOTTOM UP.

Q STHDI4 CORNER INSTALL DETAILS

KING STUD
TO DBL. TOP PLT.

|

o
°

1'-5 1/4" 4
PONY WALL HGT.

8ST MSTC40 STRAP
\ OPPOSITE SIDE
OF SHEATHING

olofo o
°

AV S

— 5 1/4" x 111/4"
—_ LvL HEADER

LvL HEADER

HEAD JAMB \

8ST MSTC4o STRAFP
OPPOSITE SIDE
OF SHEATHING

DBL. 2x& BLOCKING
@ PANEL JOINTS

W/ ed NAILS @ 3" o/c
IN EACH PANEL EDGE

JAMB

3 TRIM

SST STHDI4
EMBEDDED IN CONC.
NAILED DIRECTLY
TO FRAMING

5/8" DIA. X 14" ANCHOR BOLTS
W/ 3"%x3"x1/4" WASHERS
1" MIN. EMBEDMENT

_70 o
=

L

~L HEAD JAMB

FASTEN SHEATHING TO HDR.
W/ 8d NAILS IN 3" GRID
PATTERN AS SHOWN

FASTEN TOP PLT. TO HDR.
W/ TWO RoOWS OF 1ed
SINKER NAILS @ 3" Oo/C TYP

2%6 FRAMING ¢

116" 0SB SHEATHING
W/ &d NAILS @ 3" o/c
IN ALL FRAMING TYP

ADDITIONAL JACK STUDS
W/ &d NAILS @ &" olc

|

|
- _ 2 KING
...- )_\ N -—.m_z

2xe TREATED PLT.
W/ ADDITIONAL
DBL. siLL PLATE

|
|
L12" TYP F— 11/2" TYP
|
|
|
|
A . <
L: ”””””””””” l”hb”””””””“hll””
. . g .
OOZO m_lbm e .||.|.|||||.|..||“”””.H.H””HH””HH N~l®:
< : . - A STEMWALL
P 9
A4 |
“M””””””””””””“””””””””””””””””””””””“
a A . )
=== ”””””””””“”””””””””””””#”””””Nﬂ —Q‘
A [+] o
< J

/ 36"%36"%X12" CONC. FTG.

W/ 5-#4 BARS EA. WAY

20"X1©" CONC. FTG. W/ 2-#4 CONT. HORIZ REBARS

@ GARAGE DOOR SEPARATOR 2

SCALE: 3/4"="-©"

ALTERNATE BRACED WALL PANEL AND PORTAL FRAME DETAILS

2xe DBL. TOP PLT.
NAILED @ 3" o/C EACH

*

FRAMING DETAIL NOTES:

.  VERIFY ROUGH OPENING DIMENSION FOR
ALL WINDOWS AND DOORS FROM MANUF.

2. ALL FASTENERS INTO PRESSURE TREATED
LUMBER SHALL BE HOT DIPPED GALV.

3. ALL GIRDER TRUSSES SHALL HAVE A MIN.
OF (2) sTUDS BELOW FOR BEARING.

4. ROUGH CARPENTERS SHALL INSTALL
ADDITIONAL BACKING FOR ANY INTERIOR
PARTIONS, BATHROOMS, KITCHENS AND
GYP. BD. NAILERS.

5 CONTRACTORS SHALL VERIFY MISSING OR
INCORRECT DIMENSIONS WITH MEDEEK
DESIGN.

ofe © o ° ° ° ° ° ° o
7 /4 ) o o eo o o ° “ — “\ NXL- mbﬂﬂmm
5 1/4 A \ EXTEND END STUD
PONY WALL HGT. TO DBL. TOP PLT.
7 o0 o 0 oo o SEE CORNER
(-] o (-] o o o o o o Umﬂb_—l
o o o o o o o H &
B4 x4 ,._.._.._,_,._.._H/_/: \4/
O o ° ° ] o ° ° o
LvL HEADER — =727 - =T /_/ ST EASTEN SHEATHING TO HDR.
\ . ol W/ 8d NAILS IN 3" GRID
HEAD JAMBS .. 0 PATTERN AS SHOWN
N\
) "Il — rastEN TOP PLT. TO HOR.
88T MSTC40 STRAP . W/ TWO ROWS OF led
OPPOSITE SIDE ° RNE SINKER NAILS @ 3" o/c TYP
OF SHEATHING ~| [T}
i 1le ™ 2xe FRAMING ¢
JAMB B G |  E /16" 0SB SHEATHING
i N e W/ ed NAILS @ 3" olc
. L IN ALL FRAMING TYP
o /o/o .
3 TRIM . 515
. “*[[— DBL 2x6 BLOCKING
. || @ PANEL JOINTS
65T STHDI4 0 & W/ ed NAILS @ 3" o/c
EMBEDDED IN Cone. L ofef. IN EACH PANEL EDGE
NAILED DIRECTLY i e
TO FRAMING o el
. -l
_ o
° _ |
, . ’ it 2x6 TREATED PLT.
5/8" DIA. X 14" ANCHOR BOLTS ° . w/ ADDITIONAL
W/ 3"%3"x1/4" WASHERS ) ° \"\ DBL. siLL PLATE
1" MIN. EMBEDMENT : . £
/ . _ o
u ° .-A_\-o‘ "
_ o "._v o _ o _ o _ o _ ﬁ" - o - | .M
T i
~ [
) 0
4" A IIN. W\ . L\
conc.sLaB [ D il o
. J A =
. N\l®:
4 .
~
: - <
H”””A””” M”””QM”””””O””””O”””””””””U _®
. . A A o J
T 30"%30"XI2" CONC. FTG.

W/ 4-#4 BARS EA. WAY

20"X1©" CONC. FTG. W/ 2-#4 CONT. HORIZ REBARS

@ GARAGE DOOR END PANEL

SCALE: 3/4"="-9"

*NOTE: NOT ALL REBAR SHOWN FOR CLARITY

MEDEEK DESIGN

Inc.

R
Q
5
¢
€
z
=
H
Q
)
[a}
z
(€]
2
a
s
O
o
=
z
B
g
O
2
H
Q
2
o
S
B
g

CTION
NCE ONLY.

E

D&

3050 SR 109 COPALIS BEACH, WA 98535

ph (425) 741-5555

DESIGN.MEDEEK.COM

Bn 25

THIRD
ANGI
PROJI
ALLI

AND

OF, M|
REFER

PLAN NO.

A.2

GARAGE4828-AcD-3

SCALE 1:16

DESIGNED BY:

NPW
1e12/2o14

DATE:

SHEET CONTENTS:

FRAMING DETAILS
BRACED WALL PANELS

REVISION HISTORY:

CUSTOMER:

LOCATION:

w
T
m
m
—

2

o 18

PRINTED: 10/12/2014  LAST SAVED BY: Administrator

GARAGE4828-A6D-3_FRAMINGDETAILS

DRAWING PATH: U:\DATA\drawing library/\GARAGE48288-A6D-3\



